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No.3 Z+F 50m BHE# BALL—R R

LK ATIL—T >

BfL. K 4 i B 2E KK =
O ol I T2 KSCTH sIN2 1/ 4 44.17 5%
2 B . bE TANRT 4 A N2 1/ 3 46. 44 A%
3 HH Foak TANT 4 A N 1/ 2 47. 88 3k
4 (WO ERZAE KSCERJI /]2 1/ 5 49. 69 2%
5 HR B J—ZXAC /N2 1/ 6 52. 64
6 L HEHE TANRT oA UL 1/ 7 101191 *FH
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L BYIL—TF >

Ef. K 4 Fr & 2E KK L=
1 R IEG1- KSCTH N4/ 4 33. 61 9%k
2 I HhZs AT A4 /P 4/ 5 35.19 SH%
3 MR ERG TART 44 M 3/ 4 36. 04 6%
4 W) R T2ART 4 A M 3/ 3 36. 86 67%
5 JIIH AL J—XAC 7N 4/ 3 37.15 TH%
6 )l e BkeD /N4 3/ 6 38. 61 6%
7T HAF mes T ZNT oA M 3/ 5 39.13 45
8 KikfE A& KSCTH /N3 2/ 3 39.59 *TH 8#%
9 &I Fitp KSCERII /M 3/ 1 39. 63 3%
10 5 & T2ANRNT 4 F 4 3/ 2 39. 71 3%k
11 “FH BEfE KSCERI /)M 2/ 4 40. 19 5%
12 HE ==} BEy /N3 3/ 7 42.13 43t
13 R L HHFSC ! 2/ 6 42.96 35K
14 FRH 154 KSCER=R)II /M 2/5 43. 62 1%
15 F8 HF KO JAK /N 2/ 2 49. 45
16 V4 FE2F] H J—XAC N2/ 1 54.07 *F@)
17 Wk KSCTH N3 2/ 1 59. 20
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Bf. K 4 & 2E KE i
1 i A2 KSCHF~X /)6 6/ 5 30.93 Sk
2 i EE J—xAC NG 6/ 3 32. 51 8#%
3 HE e BEED NG 6/ 1 33. 17 6%
4 B K KSCTH /NG 6/ 6 33. 46 8%
5 mME B BEBLY /NG 6/ 7 33. 65 6%
6 JHK HE KSCERII /15 5/ 4 34. 74 6%
T RS BEED /INB 6/ 2 35.08 6%
8 M i J—=XAC /N5 5/ 3 35.17 TH%
9 K EE BRBLY /NG 5/ 2 35.29 5%
10 AR K4 KSCERII /6 5/ 6 36. 39 5%
11 A Kme KS C#E=RJII /b 4/ 6 39.35 45%
12 [if] < L HERF S C /NG 4/ 2 40. 77 1%
13 FEPHE J—XAC /N6 4/ 7 41.04 *FH Ltk
14 HE BRZE J—ZXAC /N5 5/ 1 42.73
15 R #EE BEBLY /N6 5/ 7 43.18
16 KRJII HE TANT oA NS 4/ 1 45. 88
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No.3 ZF 50m BHEH R A LL—RRE

LK DIGL—T >

B & £ T & BE KK B R
1 RS T KSCTH H2 8/ 4 27.01 10%
2 ki P KSC#+~ 3 8/ 5 28.98 8ik
3 HH 1t KSCTH 3 8/ 3 29. 01 8k
4 BAR B BkED 12 8/ 2 29. 46 8%
5 KR# HE KSCTH 1] 8/ 6 29.76 9%
6 HEp i J—XAC 19 8/ 7 30. 85 Tk
T mHbHAT J—XAC Ml 7/ 4 31.91 7%
8 HH A KSCER)I H2 7/ 5 32.84 5k
9 HE fEE KSCTH =oh] 7/ 6 32.88 6%
10 P5EEHE J—ZAC ab! 7/ 2 32. 89 6%
11 ek T4 KSCER)I H2 7/ 3 33.35 5k
12 BrH B J—ZAC =B 7/ 1 34. 91 5k
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B & £ T & FE KK B R
1 ks fnas KSCgERJIl &l 8/ 1 32.79 45
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